Key to Exam 2; Finance 4360; Spring 2006; 1:00 Class




Note:  For all problems requiring calculations, set up but do not solve anything.  “Set up” means write down the appropriate equation and plug in as many numbers as possible.  For multi-step problems, you should refer back to previous steps.
Bonus:  What Excel short-cut is “used to put a box around a cell or selection of cells.”?
Ctrl + Shift + 7

Short answer questions/problems

Note:  if you write more than a couple of sentences on a short-answer question, you are likely writing too much.

1.  Based on the attached page from Yahoo! Finance, what cash flow would have occurred if you had decided to buy 7 put contracts on Pepsico that expire on Friday, July 21st, 2006 and that have an exercise price of $60  (Note:  use a “+” to indicate a cash inflow and a “-“ to indicate a cash outflow)?

-7(100)(1.60)

Solved:  -1120

2.  List (but do not explain) the two factors that cause stockholders to gain at the expense of bondholders when the firm pays a dividend.

Assets fall so both stock and bond values fall, but stockholders get the dividend; variance of returns on firm’s assets rises.

3.  If a firm has debt in its capital structure, how will the firm undertaking a zero net present value project that decreases the standard deviation of returns on the firm’s assets impact the value of the firm’s stock and bonds?

Stock falls, bonds rise

4.  List (but do not discuss) the 3 actions that bondholders can take to reduce the chance that stockholders will attempt to steal from them.
3 of:  restrictive covenants, monitoring, convertible debt
5.  List (but do not discuss) the condition or conditions under which stockholders might be better off if a firm does not invest in a positive NPV project.
Decreases variance of returns on the firm’s assets; stockholders provide funding for project.

6.  What is the main reason that managers will want to work less than is optimal level from the perspective of the firm’s stockholders?
Managers bear the cost of the effort (S/H do not) while getting only part of the benefit (S/H share in benefit).
7.  List 3 reasons that a project with the highest internal rate of return may not be the project that most increases the wealth of the firm’s stockholders.
3 of:  Ignores scale, projects with long-term cash flows tend to have lower IRRs, if project hs initial inflows followed by outflows, then it is more like a loan and want lowest (rather than highest) IRR, ignores differences in risk.
For questions 8 and 9 below, assume that GM’s marginal tax rate is 35%.  Assume also that you are attempting to calculate the net present value of GM building a new assembly line in Waco.  The new facility is expected to remain in operation for 30 years.  For both questions indicate the impact of the given information on net cash flows for your analysis.  Indicate an increase in net cash flows with a “+” sign and a decrease in net cash flows with a “-“ sign.  

8.  Assume the new assembly line would cost of $80 million and would fall into the 7-year depreciation class under the 1986 Tax Reform Act.  When calculating the net present value of the new assembly line, what is the implication for the firm’s net cash flow 7 years from today?

+80(.0892)(.35)

Solved:  + 2.4976

9.  Land on which the assembly line will be built was purchased a year ago for $1,000,000 could be sold today for $1,300,000.  When calculating the net present value of the new assembly line, what is the implication of this information on the firm’s net cash flow today?

-(1,300,000 – (1,300,000 – 1,000,000).35) = -1,300,000 + (1,300,000 – 1,000,000)(.35)
Solved:  -1,195,000

10.  After you have calculated the number of units your firm must sell for the net present value of a new facility to equal zero, you boss comes in to tell you that the variable cost per unit sold will be higher than originally thought.  How will this change the number of units that must be sold to break even?

Increase
Problems/Essays

1.  Since you expect Oracle’s stock to fall from its current price of $13.72 to $10 by June 2006 you are thinking about buying a put on Oracle with an exercise price of $12.50.  While you plan to only hold your option through June 2006 (3 months from today), you plan to buy a put that expires in January of 2007 (ten months from today).  You have also collected the following information.

The return (APRs assuming continuous compounding) on Treasury securities vary by maturity as follows:

March 2006 = 3.75%, April 2006 = 4.48%, May 2006 = 4.54%, June 2006 = 4.59%, Sept 2006 = 4.77%, Dec 2006 = 4.75%, Jan 2007 = 4.73%, Jan 2008 = 4.64%

The standard deviation of returns on Oracle over:  the past 10 months was 35%, the past month was 45%.

You forecast that the standard deviation of returns:  over the next month will be 50%, over the next 3 months (through June 2006) will be 48%, over the next 10 months (through January 2007) will be 39%, over the next 22 months (through January 2008) will be 26%.

 (Note:  for all questions set up the sequence of equations and fill in as many numbers as possible).

a.  What is the most you would be willing to pay for the put?

b.  What is the minimum value of the put?

c.  Briefly explain the logic of the number you get in part “b”.  What is the reason for this number?

d.  Explain the difference between the value you would calculate in part “a” and the minimum value.

a.  
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S0 = 13.72, E = 12.50, t = 10/12, rf = .0473, 
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Look up N(d1) and N(d2) on tables

b.  Minimum value = 0

c.  Can’t be forced to exercise

d.  Have 10 months during which Oracle’s stock price might fall below $12.50.
Solved:  d1 = 0.5503; d2 = 0.1943; N(d1) = .70884; N(d2) = .57535; C0 = 2.81138; P0 = 1.10825; Most = 110.83

Excel:  108.96

2.  In anticipation for growing demand for its phonecasts of popular TV shows, Verizon Broadcasting Network (VBN) plans to spend $25 million on new broadcast infrastructure.  This new investment is expected to produce net cash flows over the next 15 years with a present value of $33 million.  The new investment will be funded with $10 million of cash and by issuing additional debt that matures in 7 years for $20 million.  VBN will also issue or repurchase equity if necessary.  The standard deviation of returns on the new project will be 52%.  If phonecast demand grows faster than expected, VBN can expand its network any time over the next 5 years at a cost of $12 million.  As of today, the expected present values of such an expansion are $9 million.   The expansion is riskier than the initial infrastructure and has an expected standard deviation of returns of 65%.  Due to the project, the overall standard deviation of returns on the firm’s assets rise to 46% from its current 39%.  And if the initial project is expanded, the overall standard deviation of returns on the firm’s assets is expected to rise to  51%.  The return on Treasuries (all APRs assuming continuous compounding) vary by maturity as follows:  

1-year = 4.69%, 5-year = 4.59%, 7-year = 4.65%, 10-year = 4.72%, 15-year = 4.87%.

What is the net present value (including the possible expansion) of building the infrastructure?

NPV = -25 + 33 + C0
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V0 = 9, E = 12, t = 5, 
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, rf = .0459
Look up N(d1) and N(d2) on tables

Solved:  d1 = 0.6867; d2 = -0.7668; N(d1) = .75490; N(d2) = .22065; C0 = 4.69; NPV = 12.69
Excel:  12.66
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